[ Efficiency vs vertpos |
~0.05

9.045
g
20.04
(8]
$.035
Q
£0.03
0.025
0.02
0.015
0.02H-FH-:
0.005ft-{HH-4

.............................

.........................

T
e

1. W0OH

Ratio

1-41-- EEE SRk 2 B = TR E = R R

0.05f bk HE - HE -+ )

0.90 :
1072 10 1 10 0?
TP vertr (cr%)

—=— DQM_TT__ORIGINAL
Efficiend —— poM_TT__ MODIFIED_propToPlane_PRVersioniFINAL

~ 0.2
TP S | S -
[ C . . . . .
20.16------ ARRAE] FAREREEE A S P
> . . . . .

g C : : : : :
L A A S

S F : : : : :
£0.12-- RS S A N P

o E : : : : :
O Setill || RS S o HE SR
0.08F--- """ """" """"
Y e T

CTOVICINSSRS SN OO e 118

ik

OMQE....i....i....i....i..

T E : . . . :

o et FRRERD 8010 YR 11 1 S 0 1 S
0.95F -+ S I L 12O 1
0'—930 -20 -10 0 10 20 30

TP vert z (cm)

[ Efficiency vs. sim PV z |
~n 0.2
>
0.0.18
S
#0.16
20.14
3
£0.12
0.1
0.08
0.06)
0.04
0.02

1Q
1.1
1
0.95-
08

...............................................

e

...............................................

effic

..............................................

:IIII-IIIII_I_I_'_I_t.I_'_I_I_IIIIIIIIIIIIIIIIIIIIIIIII

Ratio

FunnR;

1
T
1
T
N 4
O|EE=mE]
v T
b—— = [
—— [
L T T -

1 15 20
Sim. PV z (cm)

ﬁ....
o
a . -
o



	Contents
	Page 1


